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Provisional Answer Key for CG-AC24 (Set-A)
Question No. Answer Key Question No. Answer Key
1 C 51 A
2 B 52 A
3 A 53 D
4 B 54 B
5 D 55 D
6 C 56 C
7 A 57 B
8 B 58 D
9 A 59 C
10 A 60 B
11 A 61 B
12 B 62 B
13 B 63 A
14 D 64 D
15 A 65 D
16 B 66 A
17 B 67 D
18 D 68 A
19 B 69 D
20 C 70 B
21 A 71 D
22 D 72 A
23 A 73 C
24 B 74 B
25 B 75 A
26 D 76 B
27 C 77 C
28 C 78 C
29 B 79 A
30 B 80 D
31 A 81 A
32 B 82 A
33 C 83 A
34 D 84 C
35 A 85 C
36 B 86 B
37 A 87 C
38 B 88 C
39 C 89 A
40 D 90 A
41 D 91 A
42 C 92 A
43 B 93 D
44 C 94 C
45 A 95 C
46 C 96 B
47 D 97 B
48 C 98 D
49 D 99 C
50 B 100 B
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Provisional Answer Key for CG-AC24 (Set-B)

Question No. Answer Key Question No. Answer Key
1 C 51 B
2 C 52 B
3 A 53 B
4 C 54 C
5 D 55 A
6 A 56 C
7 A 57 D
8 C 58 D
9 A 59 B
10 A 60 D
11 C 61 B
12 D 62 A
13 D 63 A
14 C 64 D
15 D 65 D
16 B 66 A
17 C 67 B
18 B 68 D
19 A 69 A
20 D 70 B
21 B 71 D
22 C 72 C
23 B 73 A
24 B 74 C
25 A 75 D
26 C 76 C
27 B 77 A
28 B 78 B
29 B 79 D
30 A 80 B
31 A 81 A
32 A 82 B
33 A 83 C
34 C 84 D
35 D 85 B
36 C 86 D
37 B 87 B
38 C 88 C
39 B 89 B
40 D 90 B
41 A 91 B
42 A 92 A
43 D 93 C
44 B 94 B
45 A 95 C
46 A 96 D
47 C 97 B
48 C 98 B
49 A 99 A
50 D 100 A
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Provisional Answer Key for CG-AC24 (Set-C)

Question No. Answer Key Question No. Answer Key
1 B 51 C
2 C 52 C
3 D 53 A
4 A 54 B
5 B 55 B
6 B 56 B
7 A 57 A
8 D 58 C
9 D 59 A
10 A 60 C
11 D 61 D
12 A 62 A
13 A 63 A
14 D 64 D
15 B 65 A
16 B 66 A
17 A 67 C
18 B 68 D
19 C 69 B
20 C 70 B
21 B 71 D
22 A 72 D
23 C 73 C
24 C 74 C
25 D 75 D
26 A 76 B
27 C 77 D
28 A 78 C
29 A 79 A
30 B 80 C
31 C 81 D
32 C 82 B
33 B 83 D
34 B 84 B
35 B 85 A
36 A 86 D
37 D 87 B
38 C 88 A
39 A 89 A
40 B 90 B
41 C 91 B
42 A 92 B
43 B 93 D
44 B 94 A
45 B 95 A
46 A 96 D
47 B 97 C
48 C 98 C
49 D 99 B
50 C 100 D
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Provisional Answer Key for CG-AC24 (Set-D)

Question No. Answer Key Question No. Answer Key
1 B 51 B
2 D 52 B
3 A 53 D
4 B 54 A
5 A 55 C
6 C 56 A
7 D 57 A
8 A 58 C
9 B 59 A
10 B 60 D
11 A 61 C
12 D 62 C
13 C 63 B
14 A 64 C
15 C 65 C
16 D 66 C
17 C 67 D
18 C 68 A
19 D 69 D
20 B 70 B
21 A 71 C
22 B 72 B
23 A 73 B
24 D 74 B
25 B 75 D
26 B 76 B
27 A 77 C
28 B 78 D
29 A 79 C
30 B 80 A
31 C 81 D
32 C 82 D
33 B 83 A
34 D 84 B
35 C 85 C
36 A 86 A
37 A 87 A
38 D 88 A
39 B 89 B
40 B 90 D
41 C 91 A
42 A 92 B
43 D 93 B
44 D 94 D
45 B 95 A
46 C 96 A
47 B 97 A
48 A 98 D
49 C 99 C
50 B 100 B
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for their original works like writing,

photograph, audio recordings, video,

sculptures, architectural works,

computer software and other creative

works like literary and artistic work.
Patent

1. ____grants legal rights to creators

(B) Copyright

(C) Agreement
(D) Deed

(E) Not attempted

2. Essentials Elements of a Contract of
Insurance are

4By Gtmost good faith

(B) Insurable Interest

ontribution
All of these

(E) Not attempted

3.Mte Harshacharitam ?

(@ anabhatta

(B) Ishadas Rachit
(C) Vishakha Dutta
(D) None of the above
(E) Not attempted

4. is asystematic, periodicand so
far as humanly possible, an impartial

rating of an employee’s excellence in
matters pertaining to his present job
and to his potentialities for better job.

Job Rating
B) Merit Rating

Job Analysis .
| il
(D) Job Design 'i:

(E) Not attempted
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qﬁ'@'ﬂTCF, m W@T, m’ m:

AREgIed R, e A 3R Al
3R SHelTcaes Rl S I THCHS HRY| 3%
foT S JTREAR g et ® |

(A) U

(B) SHIURISE

(C) T

D) g I
E) ST %]

2. T % IEY & NTTTH q &
(A) 3T DT (9™
(B) sfuri f&a
(C) IEH
(D) 3uTrert G

(E) 3T9TREd




vehicles ?
})/F’Ene mirror
~(B) Concave mirror
(C) Cylindrical mirror

(_(Py Tonvex mirror

(E) Not attempted

8. nder which Section of the Company’s

Act provides that remuneration
payable to Directors shall be
determined either by the articles of

the company or by a resolution of the
company in general meeting ?
(A) Section - 309

(B) Section - 295 )
(C) Section - 301 [=]%:[E]
(D) None of these

(E) Not attempted
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'ﬁg CG - AC24
9. Abbreviation of NSDL i1s 0. Qq@@mﬁ F ﬁ'ﬁﬁ = %|
(A) Notional Securities Depositories A) e 3 .
Ltd. [‘ ) . f' RUCERCEIERIE Nt
)B‘)/National Securities Depositories ' (B) 9« Hqﬂﬁdﬁaﬁ el eTfte
td. N . (C) et Fyfds feuiforets frfice
Novel Securities Depositories Ltd. | 's':lﬁ 5
(D) None of these | D) HIE T
(E) Not attempted (E) 3T9ATR
10. Chaudhary Devi Lal Herbal Natural 10. BT o =il <ot e LY ‘;l'l‘T"f%{zs
Park of Haryana is situated at qTeh Tierd o & 2]
reserved forest. | (A) FT& |
(A) Nahar m
(B) Chuharpur % ' p—
(C) Saraswati f-_:%‘
(D) Khaparwas | (D) EHET E[E
— (E) Not attempted (E) 3T
, @ is a technique which duplicates, | 11. Teh Ul E|G;$IIE{‘5 g Sl Eh—lﬁ q
4 as nearly as possible, the actual 3T ITelt arfereh ATl Sl JemEyg
conditions encountered on a job. I 5'%1'3'2 il 3l
: _(&Simulation _ (A) T
(B) Role Playing | (B) Ul AT
(C)Apprenticeship @ (C) 3Ty
) None of these | (D) 399 © hi5 gl
(E) Not attempted | TR
12. Functions of Insurance are T & S 3
_IA) Risk Bearing (A) STIRGT T&T T
(B) Provides Saving (B) ©<ld QT h{dl
(C) Provides Protection I (C) &M U™ AT
(D) All of these (D) IWIea Tt
(E) Not attempted (E) 3TSRiHd
13. Who among the following poets | 13, T=faRea o 9 frg =y 1 2f@mon =
1s regarded as the John Milton of I fireed HaT ST % )

(A) Kashmiri Lal Zakir

H
el | l (A) I ST SR

(B) Altaf Hussain Hali (B) eI §E BTed!
/?2] Dayachand Mayna  [&]%3[E] /(C]/ CCIECAEIDE]
D) Samartha Vashishtha i?r-é'ﬁ (D) T9Y RT3

(E) Not attempted I (E) AT




(D) None of the sbove

(E) Not attempteq

(D) None of the abgye
(E) Not attempteq

%Eflnabm;s—aﬂd mterpretatw
<) Communicating Function
(D) All of these

(E) Not attempted

i

. deals with the new securities.
(A) Secondary Market
(B) Tertiary Market

&y Primary Market
(D) None of these

(E) Not attempted

18. orkmen’s Compensation Act, 1923,

under which Section and sub-sections
defines dependant ?

(A) Section - 2(1)(c)

/(‘BT Section — 2(1)(g)
(C) Section — 2(1)(d) ;‘#
(D) None of the above
(E) Not attempted

o - Ac?*

C

14. B2C dftrerer =1 319 2
(A) TG -7 -t
(B) WIST-7-hgrl
(C) MST-Z-HEH
(D) 3qqera & & I3 A8l
(E) 3r9=nfia

S 2if e afegrd ify & FD 0
Tt 6 Sy 35 apror e el et ¢ |
(A) |
(B) Rk
(C) 3MEm™=
(D) SWiad & & <hrs @I
(E) 3m=mida
16. Y9YT W@ &% H1F &
(A) ST T TXNeA
(B) ST 7 fargeryur afit =
(C) Fog
(D) Surer wft
(E) TSR

=

[3] St
B
=]

17,

(C) TTEH HTehe
(D) 1 & HIZ &
(E) TS

18. TR Y3 AR, 1904
YRT 3R IY-43T %

L HEGRE R IR,
(A) 81T - 2(1)(c)

(B) 9RT —2(1)(g)
(C) |RT -2(1)(d)

EA|
m&aaaﬁm
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;
21.
22.

} - (C) Suspension

@)f’Diwdend
(C)_Proposed Dividend

Join Telegram Group "SarkaridJobcity.in"

If the pair of linear equations

13x +ky= kand 39x + 6y = k + 4
has infinitely many solutions, then
the value of k is '

(A) 1 (B) 4 |
(C) 3 (DY 2 e G
(E) Not attempted l

is the termination of the services

of an employee by way of punishment for
some misconduct, or for unauthorized

and prolonged absence from duty.

Watremchment | l
_(B) Dismissal

) None of these |

©) Not attempted

| —

credit refers to the credit

extended by the suppliers of goods in
the normal course of business.

(AT Trade

(D)} None of these
(E) Not attempted

is a part of divisible profit

of a company distributed among its
members according to the number of
shares held by each of them.

(A) Interim Dividend

(//ﬁ/ﬁnal Dividend

- (E) Not attempted

D

2

CG - AC2q

19. e Waeh THiHT & T 13x + ky = kgop
39x + 6y = k + 4 % I IH T §

dl k <l A %I
(A) 1 (B) 4
(C) 3 (D) 2
(E) TS
20. fepel She=I o 17T, a1 whdey
FAfpd 3R e T0T Toh TR )
% ToTq &1 = ®9 H T HHER 6 Yy
61 AT 21
(A) B
(B) SR
(C) THeTaq
(D) ST & s &I
(E) 3TSTRd
21, ShiSe T Haeid 39 hise ¥ 2 S
MR & FH=T 68 § 71T o MYfehaial
ERUCRIRSI RS
(A) g3
(B) TeEUle
(C) 3K
(D) ¥ ¥ 1§ Tl
(E) TSR
22, ol & Ty ey @ u
g o 3wk wewit grr e St
qEA % ITTHR Yo% Tew! % s i
ERIRSIGIR
(A) ITANH SATHIT
B) et o
(C) S&aTfe amoisr [E%[E]
(D) (| ST
(E) TS



r
%.'fﬂ:.], returns false furns true, else it
]
.-é'f (C) On AB) Nﬁt 1N

[
|
In .
(E] Not atte:[]j]_pted |

24. The rural sales perso
certain qualification

markets are

(A) Educationa] Background

(B) Fluency in Loca] Lo
(O) Cultural FaCtOrs guagES

ﬂAH of the above

(E) Not attempted |

25.

Commission is the special
commuission offered by the consignor to

the consignee for undertaking the risk
of bad debts arising out of credit sale.

(A) Ordinary
Del credere
(C) Over riding

(D) None of the above
(E) Not attempted

26. Which of the following is the Crop
Diversification Scheme of Haryana ?

era Fasal Meri Virasat

(A)
/fﬁera Pani Meri Virasat

(C) Mera Krishi Merl Virasat
(D) Mera Vikas Merl Virasat
(E) Not attempted |
environment refers to aJl
forces which have an economwpact

on business.

Aﬁr)’]:,/ccfmomic

(B) Technological
(C) Social and Cultural
(D) None of thes€
(E) Not attempted

27.

(A) Sferen gy

(B) T WET3AT 6l f‘?ﬂq_
(C) |TEhiceh HH %
(D) IWiem gt
(E) TSTHId

: v 98 fa9y w8 S
NS TR W G aTel Y shied fershl
IS B STe) 3TSeT SN 6 SIRGH i
33 & feru fean <irar 2l
(A) ATTeTa

i
i

25

26.




28.

F

29.

31.

32.

30.

R meRegraOToup | oarkariJobcity.in”

CG - AC24
A is the smallest seg?nent of 28. _ ' wrferferfey = & & ﬁrl":ﬁfﬂﬂ EE[
activity or area or responsibillty for ol G % a3 R AT Gﬁ:IT @R‘ﬂ' %l
g ———— awd' ERE () Fhe A (B) P T
(A) Cost Audit = NZIS]; C;?IE;::S& {Fﬁ Q) 3¢ 3ot D) 3?3( 3 Eﬁl‘é 8
C) Profit Centre
- d | (E) TSI
(E) Not attempte | | 3_5,
Under which Section, every registered | 29. RpE YT % Ted, e Jsiipa ELT;
Trade Union is under a legal obligation e =l AT Frffes fererft I&a
to submit to the Registrar its annual *% F "kﬂ aﬁa ¥ a7efA % ’
N (A) VT - 28
o Sl 52 (B) YRT — 25
)(g/s:féff - 12(3) (C) & - 12(3) .
(D)" None of the above | (D) ST & ¥ g Tl
(E) Not attempted | (E) TSR
‘Jain Prakash’, Haryana’s 1° Hindi 30. BRI <1 Yacdl &<l W—W
newspaper was published in the year of -SRI’ T SepTiRId §3T T |
(A) 1980 ) 1985 (A) 1980 /(—Ea'f 1985
(C) 1995 (D) 1975 C) 1995 (D) 1975
(E) Not attempted (E) AT
31. St ) T B, TereRfEa

is the process of acquiring,
developing, employing

remunerating and retaining people.

(A) Planning (B) Difecting
(C) Staffing Controlling

(E) Not attempted

In the given figure, O is the center of 32

a circle, PQ is a chord and PT is the |
tangent &t P and £POQ = 707, then
the measure of £TPQ is

AR 23, e A, e T o
§ATT @A <hl Tk Bl

(A) IS (B) ez
(C) TR (D) helfeT
(E) ASETEd
. & T 3Tl H, O Th 99 &l 95 &, PO

e a8 3R PT, P W TRIL@T 2 ol
/POQ = 70° %, @ £TPQ I HY &I

gl

P
T
7
[21512]
A 55 (B) 45° j T () 55°
- (€) 35° (D) 70° (C) 35°
(E) Not attempted (E) ST
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T 1 P
%

policy refer
33 - : . > tothe rules ang 2
regil ACORs. Prnciples, progrmmele B ife i et & foer €O
and priorities formulated ang followed AT w0 3 fo e g HAA AR
by the government for guidin th i N NI ~ ﬁ:[‘r'ﬁﬁ
development of ind%es o ih < 3, JEI ‘I 9H] 3ﬁ'{ iﬁalﬁ.aqj' | & %&ﬁ %I
country. 3 - T 3R Srfiearst i
(A) ig;icull‘ural Mdustr‘iaj A) M ERE (B) I
(C) Labour (D) None of Lo | :
E) Not atternpted Of these (C) g ':‘.r' (D) =4 o CIES el
E
4.\ Components of Time Series are . (E) ryanfag
(A) Secular Trend N5 *. T SINERE UTF o
(B) Seasonal Variations A) RERST i@
(C) Cyclical Variations °) Fieet feeara
Pyl of the above (C) Trsieerser Sftaer=
(E) Not attempted (D) St wh
) » | (E) Irvantae
35, inancial report is a financ; . o
report that contains either g comple?::zi-al 3. faviim e uw forefia Rdi B
condensed set of financial statements | If‘mﬁ Th 3H1E & I fofig a9 &1 qer
for a period shorter than an entity’s g I % fom forfra fae =1 o
full financial year. ﬁmﬂf@ﬁzﬁél
(A) Final (A) BT %
/,5{ Condensed (B) et
(C) Interim ERE (C) 3Taim
D) None of the above E-T,:_H} | (D) ST ¥ ¥ H1$ 75
E) Not attempted e | (E) Juamyq
36. Alteration of Articles Association | 36. Ul tufay Fi fpy 9N & 989
under which Section of the Company’s HATEHed TEITHTTH RECRERETY
Act ? Thdl @ 7 '\?ﬁ
(A) Section - 31 /({ Section — 35A (A) T - 31 AB) Y- 354
(C) Section - 30 (D) Section — 26 (C) 81 - 30 (D) 8/ - 26
[E) Not attempted . (E) 3T
37. Ozxalic acid is present in | \SL,/ N : | q tﬁs@ Bl % |
(A) Tomato (B) Orange A ' Wy
. : C
(C) Tamarind (D) Sour milk | ¥ 7 D) g1 e\ oy
(E) TG

(E) Not attempted
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38. The Problems in Rural Marketing are

(A) The Unevenly Scattered Population
(B) Low Per Capita Income
(C) Low Level of Literacy

LB All of the above [=] 5%

(E) Not attempted Eﬁf_@

—_audit is critical review of
policy and practices of management.
(A) Operational
(C) Standard

(E) Not attempted

(B) Management
(D) Balance Sheet

40. The Qualifying Amount for deduction
u/s 80c is

(A) Rs. 2,50,000 (B) Rs. 1,50,000
-~ (C) Rs. 3,00,000 (D) Rs. 3,50,000

| - (E) Not attempted - -

The orbital speed of a satellite revolving
near the surface of the Earth is

(A) 11.2 km/s
(B) 5.6 km/s
(C) 7.9 kmm/s
(D) 3.2 km / S
(E) Not attempted
42. “Capital budgetingconsistsin planning

development of available capital for
the purpose of maximizing the long

h—-—-—-___-'

term_profitability of the concern”.-This
definition defined by whom ?

(A) Lynch
/(E'(G.ﬂjc. Philippatos

(C) Charles T. Horngreen
(D) None of these
(E) Not attempted

38. UMY fouvr i gum §

(C) T&RdT =1 7 &
(D) 3T g+t
(E) 37T

39. __ oEmdiien yeuH i Hify ik
JATHAT sl Tgeaqot Teften @ |
(A) IRETFId (B) YEEE
(C) AT (D) =i 3fie

(E) 3714

40. YR 80c % d&d heldl o foTT Jryar
afyr 8
(A) %. 2,50,000
(C) ®. 3,00,000
(E) 3T5Tiéa
qedt it Tag H I TFH T TN
IR 6 Hefy iy g |
(A) 11.2 fft/aehs
(B) 5.6 fotft/aehe
(C) 7.9 Tortl/ahs
(D) 3.2 TorHl/8hs
(E) 3TSATHéd

42. Wﬁmmﬁm

o I ¥ T SO H Iersy gt <hl
frpTe AT TR Bidl @71 F8 THRATHT

(B) %. 1,50,000
(D) %. 3,50,000
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:
: &
%E | co - A%
o Methoc}s f)f Financig] Statement
4% anpalysis is | a3 5
(A Comparative Statements (Aiilq T favery ¥ @i
p) Common-size Statements (B] w .
(C) Cash Flow AnaIYSIS ) m"ﬁ:ﬁ EEIW ['E':;'
M of the above C) 792 yamr fysmor FlET:
[E) Not attempted (D) 39tiem oy o=

i i the old (E) i

which 1s the oldest civilian aj ,

‘ rt

Haryaﬂ&? e | ., %mmwﬁw@

(A) Bhiwani (B) Ambala 3;_8" E e
() Karnal (D) Hisar (C) el (B) ST
(E) Not attempted EE} R2SIN (D) Te8R
“That buzme_ilsl aCtiVity which 1S 45. “T8 W Tl'f%l'flclﬁl Gﬁ ST % ﬁ?ﬁﬂ
concerned with the acquisition and _ . %4
conservation of capital funds in STl TR Hw 3%“'3‘ <l q m%f %E || I?Té
meeting the financial needs and overall Y o TR 3T TL&T0T [ galva
objectives of business enterprise”. This T =7 i 1 78 8
definition defined by (A) IR AR ST
(A) Guthmann and Dougall (B) iR
EIHE B) Wheeler
Emiiﬁ'.f EC; Prather and Wert (C) SO 3 e ) _
(D) Encyclopedia of Social Science (D) THHTSFAMISAT ATH AT HISH
(E) Not attempted (E) 3
. divi =gfad I F=et 3 3R a9 i
46. The assignment of an individual :1;3 46. Tl ~ " _ el
' k and pay usually At 3 PIAI HTHAT R ST
@ job of lower ¥8X *  dificulty and Fredt T 1 T iR Rrder) Trftrer
i ' level of difficulty
involving lower 1€ PP gy
ibility is called as 8 ™ ———
responsibility 1s A B)

(A) Transfer (B) Promotion

,@]/Démotion (D) Suspension (E) JTSRATRId .
(E) Not attempted | o7 R T S . -
: liSt ° : i aaliQ
47. PYthOIl allows usS to rephCate 'El H;r{'l’i'ﬁ 33ITC|i2'( <l B'EI?flT[ E’T{% 'QT:B ﬁ
ted by

using repetition operator 4P i oY SIgUA <l IAFT < @ |
symbol (A) * (B) =

* D) #
A) + (B) C) @ (
(E] Not attempted .11- D
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48. i
N of Tax Mmeans the imposition of | 48. 1 <pl 71 2 B H .
taxe P G gﬂerl?[ hi bl G’&F’
S as well as assessment of tax but 121 i bl T el<h]
it does not include collection of Tax. -%Ej‘sﬂﬁl’(’l &1 B 2 | _
) Levy (B) Collection F AL () ) e I
(€) Direct (D) None of these (C) SIcad (D) T H
(E) Not attempted (E) AT |
/ The . ement | 49_ E&Ei‘a WF'CTW :ﬁ -Q:q; -.\I.[i aEl m
contract 1sanagr? ' —— : T - WﬁqﬁW@ﬂ?}lm
to buy or sell an asset at a certain time S %1 T H 2
in the future for a certain price . . - :
| "t . (A) AT (B) Thicl HATIH
(A) Option (B) Call Option B 3
_4€J Future (D) Put Option(_~ | (C) T j0) 3= SN
(E) Not attempte&/ () TSR
50. The system is a system 50. FIUTIc'ﬁ Sc‘.{%i Hﬁ‘i?ﬁ Ueh EIUIUIF“
of Internet servers that supports % il Qﬁ$€l SEI%FI J{ <hs sd;{-ici ﬁlélm
hypertext to access several Internet ah qéa a1 o5 T BIEUEHL hl THYT
protocols on a single interface. Cnll %l
(A; File Transfer Protocol (FTP) .. i
(B) World Wide Web (WWW) (A) HTEA ZEHRL Telehicd (FTP)
(C) Hyper Text Markup Language (B) o 9138 J4 (WWW)
(HTML) C) BEU TRL ATHITT oifasl (HTML
Mper Text Transfer Protocol ) _ - ( ]
(HTTP) | (D) EEW TR TEH Tehied (HTTP)
(E) Not attempted (E) 3TSTRd
51. L store having several ol. BR A RED al Bd & = m,
dePartments such as clothing, TOe] I 3T Hied yEe. feame it
personal care and cosmetics, books o Eﬁ'ﬂ . _ime
and stationeries, houseware goods, # ’ Eﬁ?d, Svlcr:;[i TG A
electronics etc. all under a single roof. ‘ |
[EI[E] (A) Speciality _{Byr Departmental (A) T (B) Teurerest
[Eﬁ{f*f (C) Chain (D) Convenience | (C) = (D) ﬁﬁ@
(E) Not attempted | (E) 3T
52. dewrm_astg proF?ss involves the 52. Teh Wfshar 8 form wfarsy <l
Ination of future course of
action. g o e e &)
(A) Organizing A’B)/Planmng (A) CIUCIEEY (B) Q_ 'Lii"”
(C) Staffing (D) Controlling (C) T (D) helfer
(E) Not attempted (E) Bl

«12-
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o %
s
' b P
7N\ ) ccording to the Prap Vayu Devta

35- 33 cheme 1y —
/_f PEI’IE:IDH S-—-“ , ) }]rjerjna’ .
much pension will the Custodian of
| cree/trees receive P

(A) 7 3,500 per month | RRERLC 1
B Z 2,850 per year E]% | [/&? 3,500 utH = 1
iCl Z 2,500 per year mﬁ?; (Bl 4 2,850 DIk a9
o) ¥ 2,750 per year | (C) 22,500 ufq =4
(E) Not attempted WQJSO P IGRE L
| E) Aoaifas
54. which p]:‘ic'ir-ig strategy is Characterized I 54 )
by high initial price of the product. af + AT g 3ae £l sE 3 3 oo, Fe
the time of introduction of the product EIRAED 1y R T S C———
SBEERRCEL ¥ T Fiw & 7
M) Slﬂmmlég (A) Tenfim
( (B) T3t
(C) Cost based ©) |
AT et
(D) Competition based DI f —
(E) Not attempted ) Ll
(E) samiag
55. would not be charged on ;
_ S5. Y4 ¥ amg T .
gooc}s OF SEIVICES exported from India. Tt w 1 AT AT
(A) CGST . — I TRl TorE e |
ﬁ SGST B -
el (C) Siuge
(D) None of the above (D) I 0 | Hﬁ‘é Tal
(£) Not attempted | (E) 3T9amyd
56. E Payment is the amount paid | S56. 1AM IR W AR wg qug T
y the hirer to the hire vendor at the TR T T B B T ) Rt =
time of $igning t _egmentEr atthe S— Yo = 199 5 =
time df taking del the-goods)by PR g re g <h1 8 Ty R
the AjYér from hire vendor. (A) ST31 _
1] Down P (B) $IHE
R I-;ﬁﬁﬂi
B) Installment EIZ=% () gRR =
(C) Hire purchase (D) Tacel

(E) Not attempted
-13-
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9 9 24 |
S7. Gross Profit ratio is 57%, Gross Profit g7. amsj-;qm 57% &, el ¢ITH ;
1s Rs. 4,00,000 thérefore, the sales is 4,00,0(’)70 7, o fershl |
(A) ®. ,00,000 |
@gh‘f /(A')/Rs. 7,00,000 - ng_ B) %. 1,50,000 |
\;\/ Rs. 1,50,000 %f}_ W) W Ry
66 Rs. 3 | S £ =7 (C) ®. 3,00,000
/ (E) Not attempted 15\ |
. Lurhe of CO 58. Wﬁwaﬁﬂéozaﬁw%%
The ratio of the voiu 2 e cO ot i s
evolved to the volume of O, COIISUIHEd 2 HAUTd $l o) e
. ST 8 ?
in respiration 1S called
' TS IATS I
(A) Glycolysis (A)
Krebs cycle (B) shodl <sh .._.
(C) Respiratory quotient (C) feRei R
(D) Fermentation (D) [EQCE]
(E) TSR

(E) Not attempted

59.| Professional misconduct has been 59. STSYTReh HeTr=r <hl T2 e
defined by which Section of the 7T, 1949 &I fo5e 9 & a5

Chartered Accountants Act, 1949 7 gfena e w8 7
(A) Section — 22 (A) €T - 22 1
- (B) Section - 21 1% [E] (B) 9T 21 !
(C) Section - 2(2) {-}f (C) 9/ - 2(2) '
(D) Section — 5(2) (D) 91T - 5(2) :
(E) 39T

(E) Not attempted

Gy Python allows us to join two strings 60. YI=—IRH Eﬁ HiheAsH aTqiT{( T ITIM

using concatenation operator h Eﬁ fé“éi &l Gﬁ'é?:T hl Sﬂﬂﬁ é?ﬂ%
A) $ _MB) & (A) $ (B) &
(©) * D) + , C) * D) +
(E) Not attempted (E) JTSRTRG
61. The auditor should proceed to vouch 61l. ICICLLSED %S g Il ol RS2 <l |
the Day Book or the Sales Book g@ S <hi $|‘Jf‘cl'l§ HT! ALY SUEZE i
which records only __ sales. fersht fieple Ll g | 1
(A) Cash (B) Barter _(K)— TJ6he (B) 9% |
A€] Credit (D) None of these (C) s (D) gqﬁ q ﬁg T
(E) Not attempted (E) 7SRRI :

-14-
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62. A : card makes g
the receipt and issye of m:‘::ir af} of 62. - & P r. -
(A) Debit (B) Credit H &g F91aT 2
/L@/Bm (D) None of these - A) Sz (B) 1SS .
(E) Not attempted E:}k'; ) firm D) i & FE T
EI3E (E) strmfyg
63. The turnover requires working | g3
out on how long mnventory is to be held ; _ T | 39 UL <hMH A I
before it gets sold out. AT H Bt 2 Fp s & T8 fepd-
(A) Sales 9 % 3iedt =) @ ST =@ |
Inventory (A) Seg
(C) Profit ' (B) 3zt
(D) None of the above () Hrthe _
(E) Not attempted D) HH PIS T
(E) e
64. What does the secondary memory in 64. Ht frem § e AAE —
a computer system typically refer to ? R Gelfa =l &,
(A) Random Access Memory o B .
(B) Read Only Memory (B) fig 3N=ht 3
((.G)/Hard Disk Drive C) TTE e =g
(D) Cache (D) 3
(E) Not attempted (E) A9ITHd
65. Which of the following States is | 65 ﬁﬁfﬁﬁéﬂ 0 ¥ -1 TS R0 F 99
located to the east of Haryana ? T fREe ?
(A) Himachal Pradesh (A) TEHTE e
(B) Sikkim X (B) T&ies m‘”
)QT Uttar Pradesh : ;,E]r-%ﬂ © .
it s v E_.E] (D)
(D) Goa 2 ] (E) ST
(E) Not attempted ~ .
e ot H9E 3 _ agreement 66. ITITH BT T T Sy 2
66, contract is an A) TEFCTR - (B) Y@
enforceable by law.
r"’"}'dable ' (B) Void . it () ¥ ) R
o D) Unenforc® (E) SR
C) Valid

(E) Not attempted 2 . .
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67. Rights of consumers are 67. g3l o 31BN 8
(A) Right to Safety (A) GRET T ATHT
(B) Right to be Informed (B) T T T ATHR
(C) Right to Choose -~ €) T Wmﬁ .
t (/1{) All of the above ' e (D) |
mﬁﬁ (E) ST |

(E) Not attempted

e ol ot I =
A _ __is a variable that stores 68. . @ % |

the memory v address of another i fraT T Ll 2 |

variable. (A) Ylgcd (B) qreft

(A) Pointer (B) Array Q) '. D) . ,

(C) Function (D) Structure haRi Al
40 (E) Not attempted (E) TSI

The Listing procedures in a National

Stock Exchange (NSE) are ik % | ) |
(A) Approval of Memorandum and (A) THREH F ATfehod TH THINHTIH
Articles of Association hl JAqHIGH f
(B) Approval of Draft Prospectus (B) STFE STEUFH hl ﬂﬂ'l:ﬁiq )
(C) Submission of Application (C) 3TTEGT T&Id AT |
)B) All of the above (D) Ui gt
(E) Not attempted (E) AT
70. Sir Chhotu Ram was bornin ____ 70, T B TH T TH GRAOMSH ‘
district of Haryana. SRR T3 AT
|
(A) Rewari /(m'ta_k (A) G /(B’J"ﬂ_&'ﬁa? [
(C) Kurukshetra (D) Ambala (C) Ho&A (D) TSI !
(E) Not attempted (E) TSR :
. | o u 5 |
71. Net working capital = ___ 71. T1ae Srfa ‘Fﬁ = _ FTTE] |
Assets minus Current Liabilities. S CECRCIC WI < ey aH-d g 7
Which is the missing asset ? A) e
(A) Liquid
(B) Bixed (B) 3=l
/%:rrent -%EJ (C) EREIC
(D) None of these ‘:Eﬁé;-ﬁ (D) LSl | g 78l
..-u' 4 4
(E) Not attempted (E) TSR
D
-16-
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- is a procedure by which 72
pertinent information i obtained -

about a Job.

(A) Job Description
(B) Job Analysis

(C) Job Specification
(D) Job Design

(E) Not attempted

73. A statement of sources and application 73
of cash in a period is called |

(A) Fund Flow Statement
) Cash Flow Statement

(C) Financial Statement
D) None of these
E) Not attempted

Which built-in exception is raised 74.
when a file specified in a program
statement cannot be opened ?

(A) File Not Found Error

(B) IO r
Import Error

(D) Operating System Error
(E) Not attempted

5. Characteristics of Management 75.
[nformation System are

[A) Business Driven

B) Heavy Planning

(C) Integrated System
—BI"All of the above

[E) Not attempted
76 _ _
@ Under which Section of the Companies | 76.
Act, each company has to conduct an
“Mnual general meeting in each year ? |

4) Section - 210 (B) Section — 166 .%
C) Section — 215 (D) Section - 220 i
E) Not attempted

CG - AC24

o e & R grr AR
aﬁﬂmﬁ’mamaqﬁmrﬁsrﬁﬁ%l
(A) V9 f3fEpom
(B)ﬁawﬁrﬁmj
(C) Wﬁ@fﬁﬁfﬁ;ﬂ:;?&
(D) \?ﬁ"ﬂ%mm\f

(E) 3rsemfeg

U 33t o aidt & fygwor sl 9956 F
S gl T R

(A) B8 TN R

(B) Y Tt Seifz

(C) forefiy
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Find the analogy. | e OTEET T =

oodlz Sto_Ech + gml s M : U2 ‘o S;EH . 9
(A) Plane ) Truck .
(C) _51;3 (D) Automobile 4((2(; ::f - ((E; E(T
(E) Not attempted (E) 3T mﬁ.’éﬂ
@ Causes of Low Productivity are 78. = 3CATGhdT & SH0T %
(A) Demographic factors \-‘D .%. (A) SHETETHT SR
(B) Institutional factors (B) AT H1F
(C) Technological factors == 'r (C) dehIeh! HITH
(D) All of the above (D) I9Terd gf
(E) Not attempted (E) TSR
79. _ level at which normal issues | 79. T &R 8 59w amf 3
of the material are stopped and issues
are made only under specific instructions. ;g? f ?l:: ; ::Qii? %ﬁ‘ﬁ it
(A)-Maximum (A) 3TRreRan
| (B) Minimum (B] 'QEa'q
V (C) Danger (C) EdaU
(D) Re-order (D) {-3ATeT
(E) Not attempted (E) 3TSRm™d
@ The date is the Statement 80. ) IENEC] EI_‘a'E:T ESICREEIIRE )
of Financial Position date of the first forit Tufa =51 faemo g 2 9 T &Y
financial statements that explicitly | warar g f 9 3msussmeg w5 ITATEH
state that they comply with IFRS. +d & |
(A) Reporting (A) faifém
(B) Transition- (B) ‘{I'E?WFI
(C) Final (C) FTETS
(D) None of the above (D) W | ¥ P &I
(E) Not attempted (E) ST9THd
81. The syntax for input() in Python is 81. UHYT H input() & foTT 98 fgdea 2
(A) input [[Prompt]] (A) input [[Prompt]]
(B) input [(Prompt)] EI%E' (B) input [(Prompt)]
oL
4€7] input {{Prompt]} Cha (C) input {|[Prompt]}

(D) input ([Prompt]) (D) input ([Prompt])
(E) Not attempted (E) TSR
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82, ' "
%m@mﬁm‘gg

andum of Association

(A) 47 w3
use (B) 31?5?\73;"6 xx
ity Clause (C) az

(D) 39T ouft

(E) Not attempted E) st

3, The word Market'ls derived from 83. Wit v fopm wreq A A R 7
" which word ?

A) ©ifeq

(A) Latin P (A .

(B) French %i%]‘. (B)

Greek (C) UI®
(D) All of these D) SToe Tt
(E) Not attempted E) Sy
a4, The earliest parts of Raja Nahar on o e fig & HEe 5 TR 9T 37D

Singh’s palace were constructed by g FIUCEC ISR |

his ancestor ) T

(A) Rao Tularam 5 ov L

(B) Rao Balram i

(C) Rao Tukaram ((D; . d

Shivram
(D) Rao Shivr a -

[E) Not attempted

85. Determination of full value of | 7 e AT G yfeeel b Tﬁ aﬁ[\ﬂ

consideration of land or building or bO’Eh? EeURETIRSIGL g7
under which Section in Income Tax Act
(A) 50 CA N
}R} 50 D Lt (o] el

i, (C) 50 C
) 50 C =] (e & o

/fDT None of these (D) ¥ e
(E) TSR

[E) Not attempted
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3
oy forfér o Torelt aeen
i ing the 86. REZ .
86. is a statement showing i S -
exact financial position of a concertl | Tt lﬁ;llﬂ et arel
on a particular date. | I(;' ;'[ i v
mance Sheet B Ny il
(B) Invoice Statement ©) ’[ ; 3o l
(C) Oral Statement - D) 3 N B D ﬁé i :
(D) None of the above %ﬁ -
E) Not attempted ST
" ot | 8T STENE hl T I3 <hl IO
87. A is complete enumeration o | .
e - it of the universe. oM &
g each and every unit o -
\ 4A)] Census (B) Sample | (A) STV (B) :”:Ei_f
(C) HIETEHR (D) 3 ¥ HIS T
(C) Interview (D) None of these
(E) Not attempted (E) AT > %
I
88. _ is a technique by which a 88. _ ﬁ@ LEZIED ﬁum K %
new employee 18 rehabilitated into T HHARI . 3T Elita;l. E;Iaii?‘iaﬁ-{ﬁ
his surroundings and introduced to AT & 3 & 51 JAT3I, =T
the practices, policies and purposes 3%@ o gftRra AT STl 2]
:;;/h? organization. 1 , (A) : B) -
Induction (B) Placemen 5“ = e
(C) Job Analysis (D) Job Design (C) Wie TATeTEE (D) CEIES
(E) JTSATHH

(E) Not attempted

8o, WfaAIfirar, gear-Teior, Terator e,

89. Which environment strongly affected ~ _
by laws pertaining to competition, Fasrrq:r 3;|-|ﬁ o et e o FI-41
price-setting, distribution STATEROT 3RS TR BT & 7
arrangements, advertising etc. ? ) ¥
(A) Political (B) fofiger
(B) Legal ;

(C) Social and cultural (C) TR 3T ETEehideh
/(D)/ Technological (D) REZIED
(E) Not attempted (E) 3TS=mRId

90. This district of Haryana has 90. 2011 ST % AR ST
the highest percentage of rural =g et d refior a1 Iiasd
population as per Census 2011 CHEED %

(A) Karnal (B) Jhajjar ; %’? (B) SO
(C) Jind ) Mewat '['j (C) Gﬁ'q’ ,(rE){ EEIG|
(E) Not attempted (E) AT
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01. reports are not plaﬂﬂed 1. - ﬁ'q"]?f %FT aﬁqrﬂ :
in advance and have to be designed STl % i 34 mﬂﬁ i ” a:”é
and produced depending upon YR G %3113:[ % Hﬂﬁﬁ:ﬁ iz
user-requests. A g 3R el feparm e 2
Ad-hoc (B) Regularvﬂb A) Te-7is (B) “i*'gvl{
%C) Exception (D) None of these (C) qaﬁcg];, [D!) = s T
(E) Not attempted (E) 3R
02. Which method is used to write a 92. fopef} RE iy LR R Thal oo oy
single string to a text file ? . &+ ﬁ’“»—rq BT ferfer T IYT
(A) write lines() ~ (B)-rite() o (A) write lines()  (B) write()
(C) append() (D) insert() (C) append() (D) insert
(E) t attempted (E) 3T9=TiYg /
options on ordinary shares are | 93, AT FTEIROT IR '
contracts that give the holder the right g'ﬁ % S YT e 1’:?;2 qaja'ﬁf—%xa ;3;2
to sell ordinary shares at a specified s s Tf St
price for a given period. IR é;.@; - il
(A) Call (A) It |
P Put (B) 3¢
(C) Future (C) R
(D) None of the above (D) 3ad # ¥ I3 a1
(E) Not attempted (E) TSR
94. Forms of promotion are 94. UGHNd & &Y 2
— (A) Personal selling (A) AR Torsht
(B) Advertising (B) Terzias
(C) Publicity (C) TR
/ﬁmu of these (D) Il aefi
[E) Not attempted (E) 3T
9
& time for which the employer 985. Y TSk f%'f"{ ERIESI! A
Pays, but from which he obtains no T 8, T o 518 =i I I i
Production, &l 2l
Bdle (B) Over EIGE (4) sese (B) IR
C) Abnormal (D) Normal FAE (C) I (D) T
) Not attempteq (E) 3T9ierd

21- o




Join Telegram Group "SarkariJobcity.in"

A

CG - A024

96. Mukhyamantri Bagwani Bima Yojana | 96. giemom hl et amrar TSy

(MBBY) of Haryana is implemented to (MBBY) TRET 1 3T %ﬂ

encourage farmers to raise gredTigd & 514 FTFI\ﬁWI UE I |
/m-lorticulture Crops __w()/fl’ﬁ'l:ﬁ b8 o
(B) Wheat crops (B) g HH {i'
1 ©) Oil seeds crops (©) Torere e s

(D) Paddy crops (D) 9T ®HeT

(E) Not attempted (E) TS

97. Under Income Tax Act, Health and 97. HE R AT & d8d, W 3y foren

Education Cess percentage is R {

(B 4% B) 5% /wr)’ 4% (B) 5%
(C) 6% (D) 7% (C) 6% (D) 7%
(E) Not attempted (E) TSI

~ \a\ 98. What does SQL stand for ? 08. UYH & TeT bl 1 1Y % [
" (A) Standard Query Language (A) Wes Tl elie
(B) Simple Query Language (B) Touet &t ol
(C) System Query Language (C) e & wes
(B/Sfructured Query Language (D) Eﬁé & AT
(E) Not attempted (E) ATATRIG
99. Who is the current Chief Justice of the | 99. USTH 3R 0T I=9 =RHE % Soum

Punjab and Haryana High Court ? g@f RIS I 8 7
(A) Justice Deepak Sibal W{fﬁ [HEERLES

(B) Justice Gurmeet Singh (B) Errm:ﬂ%f quiﬁ?[ fg‘g

/LG}/ Justice Sheel Nagu (C) El‘ltrrf\ﬁ I B
(D) None of these (D) S99 ¥ IS &l
(E) Not attempted (E) STSITIEd
100. When r = +1, it means that there is 100. Uﬁr-+1ﬁ?ﬁmaﬁf%%%ﬁ@?\q

perfect correlation between * 9 T{ ey 2

the variables.

(A) Negative fecE A} TR

ABYPositive :?‘ﬂ-ﬂ (B) HhNIcHh

(C) No relationship (C) hIs Hetl TEl

(D) None of these (D) 0 | ﬁ?& Tal

(E) Not attempted (E) TSR
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